

# PRODUCT CATALOG

# **Food Service**



"Your Protection is Our Business"



### **Emerald Professional Protection Products**

Headquartered in Somerset, New Jersey - we are a large importer and wholesaler of high quality personal protection products, gloves, infection control items and single use disposables. Founded in 1992 by Patrick McCrann and Andrew Curran, our business is centered on first class personal protection and service.

For over 27 years, we have been bringing you gloves and infection control products that offer high quality protection and value in the workplace. When health and safety matters, our Emerald brand has built a reputation for integrity and quality. We are continuously improving our products and adding new items that broaden protection to many niche users.

No matter how small or large, we service the distributors who sell to our targeted markets including Medical, Dental, Food Service, Infection Control, Industrial, Automotive, Safety & First Aid.

# "YOUR PROTECTION IS OUR BUSINESS"

285 PIERCE STREET, SOMERSET, NJ 08873

**PHONE**: (732) 805-9400 / (800) 652-2558 **FAX**: (732) 805-9401

www.emeraldppp.com



# TABLE OF CONTENTS

	PAGE
I . VINYL, SYNTHETIC & LATEX GLOVES	1
- Shannon Vinyl	
- Shannon Blue Vinyl	
- Power Blue Vinyl	
<ul> <li>Emerald 55 Black Vinyl</li> </ul>	
<ul> <li>Emerald Stretch Vinyl</li> </ul>	
- Happy Hands Latex	
II. LATEX & NITRILE GLOVES	2
- Digi-Glove Latex	
<ul> <li>Emerald Nitrile General Purpose</li> </ul>	
- Glacier White Nitrile	
<ul> <li>Emerald Nitrile 3.5 Mil Exam</li> </ul>	
<ul> <li>Emerald Virtual Skin Nitrile</li> </ul>	
<ul> <li>Emerald 4X Black Nitrile</li> </ul>	
III. MISCELLANEOUS ITEMS	3-4
- Polyethylene Gloves	
- Polyethylene Aprons	
- Polyethylene Sleeves	
- Bouffant Caps	
- Hairnets	
- Beard Covers	
- Face Masks	
- Shoe Covers	
- Glove Box Holders	
- C-Fold Towels	
- Garbage Bags	
- Cutlery	

# **TERMS AND CONDITIONS OF SALES**

PRICING POLICY: Prices subject to change without notice.

**SPECIAL PRICING:** Large quantity special pricing available on most products.

See closeouts and promotions listed on our website.

MINIMUM ORDER: \$150.00

\$25.00 Charge for less than the minimum order.

PAYMENT TERMS: Net 30 Days upon credit approval.

Interest charge of 1.5-2.5% per month on overdue balances.

**DROP SHIPMENTS:** A \$25.00 drop shipment fee will be charged per destination.

CARRIER CLAIMS: Damage claims and shortages in shipments must be noted

on the carrier's freight receipt and called into our customer service department within 24 hours of the time of delivery.

MERCHANDISE RETURNS: Authorization must be requested prior to return.

Credit will only be issued on original purchase price, age

and salability of product. Restocking fees are deducted from

credit amount.

Only unopened cartons can be returned.

FREIGHT TERMS: Orders of \$3,000 or more shipped east of the Mississippi will

be prepaid by Emerald/Pro-Stat. Orders between \$1,500 and

\$2,999 are billed at a flat rate shipping charge.

Orders shipped west of the Mississippi will be shipped freight

prepaid and incremental freight costs will be added to

customer's invoice.

Prepaid freight does not include lift gate fees or additional delivery expenses from carrier. Extra charges to be added to

customer invoice. Shipping error fees charged for all ground

freight when applicable.

Terms and conditions are accurate as of the catalog print date of November 2019 and may be updated or revised.

# **Shannon Vinyl Powdered**



The **Shannon Vinyl Powdered** disposable glove has been developed specifically for the food service and hospitality markets. Non-latex formula make this glove ideal for those who may be allergic to latex. Manufactured to meet exacting user specifications. These soft vinyl gloves are comfortable and have strong beaded, tear resistant cuffs for added performance.

Packaging: 100 gloves per box 10 boxes per case

Product Code	Description
VN4550	Small 4 mil
VN4551	Medium 4 mil
VN4552	Large 4 mil
VN4553	X-Large 4 mil

### **Shannon Vinyl Powder-Free**



Our premium **Shannon** glove also comes in powderfree vinyl, developed specifically for industrial and institutional use. The non-latex formula makes this glove ideal for those who may be allergic to latex. Manufactured to meet exacting user specifications, these soft vinyl gloves are comfortable and have strong beaded, tear-resistant cuffs for added performance.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description	
VN9705	Small 4 mil	
VN9706	Medium 4 mil	
VN9708	Large 4 mil	
VN9709	X-Large 4 mil	

#### **Shannon Blue Powder-Free Vinyl**



Shannon Powder-Free Blue Vinyl is ideal for general purpose, food service and other non-medical uses. Designed with a distinctive blue color for ease of identification, these gloves feature a non-latex formula for potential users who suffer from latex allergies. The comfortable Shannon vinyl blue powder-free gloves have a beaded cuff for extra strength and tear resistance.

Packaging: 100 gloves per box

To boxes per case		

#### Power Blue GP Powder-Free Vinyl



Emerald Power Blue Vinyl is the new, thicker blue vinyl powder-free glove from Emerald. Manufactured with the food processing industry in mind, these non-latex, beaded-cuff gloves will hold up for extended periods of wear and use. Component materials comply with F.D.A. regulations 21CFR110.10 and 21CFR177.1950 for food contact.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description
4701	Small 5 mil
4702	Medium 5 mil
4703	Large 5 mil
4704	X-Large 5 mil

#### **Emerald 55 Black Powder-Free Vinyl**



Our premium quality 5.5 mil black vinyl gloves are perfect for those seeking a durable, high-quality disposable glove. **Emerald 55 Black Vinyl** gloves are powder-free and made using a black non-latex formula. Ideal for cleaning, beauty applications, cooking and other general purpose uses, these sleek vinyl gloves are comfortable and include a beaded cuff for extra strength and tear resistance.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description
7950	Small 5.5 mil
<i>7</i> 951	Medium 5.5 mil
7952	Large 5.5 mil
7953	X-Large 5.5 mil

#### **Shannon Powdered 10-Pack**



Shannon also comes in powder-free vinyl, developed specifically for industrial and institutional use. The non-latex formula make this glove ideal for those who may be allergic to latex. Manufactured to meet exacting user specifications. These soft vinyl gloves are comfortable and have beaded, tear resistant cuffs for added performance.

**Packaging:** 10 gloves per pack 100 packs per case

Product Code	Description
7777	Large 4 mil

## **Emerald Yellow Stretch**



**Emerald Yellow Stretch** is a non-latex, powderfree stretch yellow synthetic glove featuring a soft modulus to reduce hand fatigue. Made from PVC polymer, these gloves are perfect for food service or other general purpose use.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description	
3210	Small 4 mil	
3211	Medium 4 mil	
3212	Large 4 mil	
3213	X-Large 4 mil	

### **Happy Hands Latex Powdered**



Happy Hands are premium gloves that offer form-fitting comfort and fingertip dexterity and are made from natural rubber latex. An offline manufacturing process gives the glove a low AQL (pinholes), and superiority over normal general purpose B grade gloves. In addition, Happy Hands have beaded cuffs and reinforced finger thickness for excellent tear and puncture resistance.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description	
HH100	Small 4 mil	
HH101	Medium 4 mil	
HH102	Large 4 mil	
HH103	X-Large 4 mil	

#### **Happy Hands Latex Powder-Free**



Happy Hands general purpose gloves are ideal for utility use. These premium gloves are made from natural rubber latex offering form-fitting comfort and fingertip dexterity. An offline manufactured process gives the glove a low AQL (pinholes) and superiority over normal general purpose B grade gloves. A beaded cuff with reinforced finger thickness is excellent for tear and puncture resistance.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description	
HH799	X-Small 4 mil	
HH800	Small 4 mil	
HH801	Medium 4 mil	
HH802	Large 4 mil	
HH803	X-Larae 4 mil	

#### **Digi-Glove Latex Powdered**



**Digi-Gloves Latex Powdered** is ideal for any type of general purpose application and utility use. Beaded cuff with reinforced finger thickness is excellent for tear and puncture resistance. A reliable glove of great value and powdered for easier donning.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description
GP8	Small 4 mil
GP9	Medium 4 mil
GP10	Large 4 mil
GP11	X-Large 4 mil

#### **Digi-Glove Latex Powder-Free**



The **Digi-Glove Latex Powder-Free** glove is ideal for any type of basic use and offers an excellent entry level non-medical glove. Gloves are chlorinated to reduce allergens. Powder-free texture allows for a fine grip. A reliable glove at a great value.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description
PF249	X-Small 4 mil
PF250	Small 4 mil
PF251	Medium 4 mil
PF252	Large 4 mil
PF256	X-Large 4 mil

### **Emerald Nitrile General Purpose**



The **Emerald Nitrile General Purpose** powder-free glove is a cost-effective solution for those seeking the protection and flexibility of nitrile. This latex-free textured glove guards against hand fatigue and provides a chemical barrier. It is the perfect nitrile glove for food service and other general purpose use.

**Packaging:** 100 gloves per box 10 boxes per case

Description	
Small 3 mil	
Medium 3 mil	
Large 3 mil	
X-Large 3 mil	
	Small 3 mil Medium 3 mil Large 3 mil

#### **Emerald Nitrile Exam**



The Emerald Nitrile 3 Mil powder-free exam glove provides outstanding comfort at an outstanding price. This latex free, powder-free textured glove is best for tactile sensitivity. It guards against hand fatigue and has superior tensile strength. It is chemical resistant and effective against blood-borne pathogens and other body fluids.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description	
5800	Small 3 mil	
5801	Medium 3 mil	
5802	Large 3 mil	
5803	X-Large 3 mil	

#### Glacier White Nitrile GP



Emerald Glacier White general purpose powderfree 3 mil nitrile gloves are a cost-effective solution for those seeking the protection and flexibility of nitrile. This latex-free textured white glove guards against hand fatigue and provides a chemical barrier. It is the perfect nitrile glove for food service, nail salons and other general purpose use.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description	
3601	X-Small 4 mil	
3602	Small 4 mil	
3604	Medium 4 mil	
3604	Large 4 mil	

#### **Emerald Virtual Skin Nitrile Exam**



The Emerald Nitrile Powder-Free Virtual Skin exam glove uses Soft Stretch Modulus Technology to provide a second-skin comfort level. This latex-free, powder-free, textured glove offers the very best in tactile sensitivity, chemical resistance and blood-borne pathogen protection. Our Virtual Skin reduces hand fatigue and has superior tensile strength.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description
EN500	X-Small 4 mil
EN501	Small 4 mil
EN502	Medium 4 mil
EN503	Large 4 mil
EN504	X-Large 4 mil
EN505	XX-Large 4 mil (90 gloves)

# Call about our container and private label programs



#### **Emerald 4X Black**



Emerald 4X Black nitrile powder-free gloves are an economical alternative for users requiring a general purpose glove that needs frequent changing. Perfect for food service as they are made from component materials that fully comply with FDA regulations regarding food contact. Beaded cuff to facilitate easy donning and a textured finish to provide a non-slip grip under wet or dry conditions.

**Packaging:** 100 gloves per box 10 boxes per case

Product Code	Description	
8799	X-Small 4 mil	
8800	Small 4 mil	
8801	Medium 4 mil	
8802	Large 4 mil	
8803	X-Large 4 mil	

# Latest updates online at www.emeraldppp.com



POLYSTHYLENE GLOVES HID Polysthylene Gloves High Density Medium Polysthylene Gloves High Density Medium Polysthylene Gloves High Density Large Polysthylene Gloves High Density X-Large  ### ### ### ### ### ### ### ### ### #	ltem		Reorder No.	Size/Color	Packaged	Case	Page 3
Polyethylane Gloves High Dentity Medium Polyethylane Gloves High Dentity Large Polyethylane Gloves High Dentity Large Polyethylane Gloves High Dentity X-Large  ### Polyethylane Gloves High Dentity X-Large  #### Polyethylane Gloves High Dentity X-Large  ##### Polyethylane Gloves High Dentity X-Large  ###################################			Redider No.	3120/60101	rackagea	Cusc	
Polyethylene Gloves High Density Large			LIDDR 400		001 (500	10.000	
Polyethylene Cloves High Density X-Large	Polyethylene Gloves High Density Medium	E merald LARGE	НОРВ499	Medium	20 boxes of 500	10,000	
Bags Poly Embossed Medium   HD4090   Small   10 bags of 1,000   10,000   HD4091   Medium   10 bags of 1,000   10,000   HD4091   Medium   10 bags of 1,000   10,000   HD4092   Large   10 baces of 1,000   10,000   HD8092   Large   10 baces of 1,000   10,000   Large   20 baces of 1,000   Large   20 baces	Polyethylene Gloves High Density Large	Sancary Tisse Tain Dies Cater Ambientone	HDPB500	Large	20 boxes of 500	10,000	
Bags Poly Embossed Medium   Bags Poly Embossed Medium   Bags Poly Embossed Medium   Bags Poly Embossed Large   HD4091   Medium   10 bags of 1,000   10,000	Polyethylene Gloves High Density X-Large	100 POLYETHYLENE GLOVES Recorder No.	HDPB501-XL	Extra-Large	20 boxes of 500	10,000	
Bags Poly Embossed Medium   Bags Poly Embossed Large   HD4091   Large   10 bags of 1,000   10,000	BAGGED						
Bags Poly Embossed Large	Bags Poly Embossed Small	PRODUCTION IE METAID LARGE	HD4090	Small	10 bags of 1,000	10,000	
BOXED   Boxed Poly Embossed Small   Boxed Poly Embossed Medium   Boxed Poly Embossed Medium   Boxed Poly Embossed Large   HD8092   Large   10 boxes of 1,000   10,000   10,000   Eurge   10 boxes of 10,000   10,000   Eurge   10 boxes of 10,000   10,000   Eurge   20 boxes of 10,000   10,000   Eurge   20 boxes of 10,000   Eurge   20 bo	Bags Poly Embossed Medium	500 CONTROLLED CONTROL	HD4091	Medium	10 bags of 1,000	10,000	
Boxed Poly Embossed Small   HD8090   Small   10 boxes of 1,000   10,000	Bags Poly Embossed Large		HD4092	Large	10 bags of 1,000	10,000	
Boxed Poly Embossed Medium   HD8091   Medium   10 boxes of 1,000   10,000	BOXED						
Boxed Poly Embossed Large	Boxed Poly Embossed Small		HD8090	Small	10 boxes of 1,000	10,000	
### Boxed Poly Embossed Large #### HDPB500   Large   20 boxes of 500   10,000    #### POLYETHYLENE APRONS  24" x 42" 1 Mil Embossed Bagged   2442   24" x 42"   10 boxes of 100   1,000    28" x 46" 1 Mil Embossed Bagged   2846   28" x 46"   10 boxes of 100   1,000    28" x 46" 1 Mil Embossed Bulk   2847   28" x 46"   10 boxes of 100   1,000    28" x 46" 2 Mil Smooth Finish White   2608   28" x 46"   5 boxes of 100   500    28" x 46" 2 Mil Smooth Finish Blue   2609   28" x 46"   5 boxes of 100   500    28" x 46" 2 Mil Smooth Finish Blue   2609   28" x 46"   5 boxes of 100   500    28" x 46" 2 Mil Smooth Finish Blue   2609   28" x 46"   5 boxes of 100   500    28" x 46" 8 bulk   300   33" x 16"   8ulk   300    ##################################	Boxed Poly Embossed Medium	E merald LARGE	HD8091	Medium	10 boxes of 1,000	10,000	
Boxed Poly Embossed Large	Boxed Poly Embossed Large	TRIUS THE PROPERTY OF THE PROP	HD8092	Large	10 boxes of 1,000	10,000	
24" x 42" 1 Mil Embossed Bagged 24" x 42" 1 Mil Embossed Bagged 28" x 46" 1 Mil Embossed Bagged 28" x 46" 1 Mil Embossed Bagged 28" x 46" 1 Mil Embossed Bulk 2844 28" x 46" 1 10 boxes of 100 1,000 28" x 46" 1 Mil Embossed Bulk 2847 28" x 46" 10 boxes of 100 1,000 28" x 46" 2 Mil Smooth Finish White 2608 28" x 46" 5 boxes of 100 500 Over the Head Poly Bib  POLYETHYLENE SLEEVES Poly Sleeve 18" Poly Sleeve 18" Poly Sleeve 18" Poly Sleeve 18" Premium  So81 18" 50 bags of 40 2,000  BOUFFANT CAPS Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green  HAIRNETS  White Nylon Hairnet 18" White Nylon Hairnet 21" White Nylon Hairnet 21" White Nylon Hairnet 21" HNW40521 21" 10 boxes of 100 1,000 HNBK40721 21" 10 boxes of 100 1,000	Boxed Poly Embossed Large		HDPB500	Large	20 boxes of 500	10,000	
24" x 42"   Mil Embossed Bulk 28" x 46"   Mil Embossed Bagged 28" x 46"   10 boxes of 100   1,000   28" x 46"   1 Mil Embossed Bagged 28" x 46"   10 boxes of 100   1,000   28" x 46"   1 Mil Embossed Bulk 2847   28" x 46"   10 boxes of 100   1,000   28" x 46"   2 Mil Smooth Finish White 2608   28" x 46"   5 boxes of 100   500   28" x 46"   2 Mil Smooth Finish Blue 2609   28" x 46"   5 boxes of 100   500   28" x 46"   10 boxes of 100   1,000   28" x 46" x 46" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 46" x 10 boxes of 100   1,000   28" x 46" x 42" x 10 boxes of 100   1,000   28" x 46" x 10 boxes of 100   1,000   28" x 46" x 10 boxes of 100   1,000   28" x 46" x 10 boxes of 100   1,000   28" x 46" x 10 boxes of 100   1,000   28" x 46" x 10 boxes of 100   1,000   28" x 46" x 10 boxes of 100   1,00	POLYETHYLENE APRONS						
24" x 42"   10 lookes of 100   1,000   1,000   28" x 46"   10 lookes of 100   1,000   1,000   28" x 46"   10 lookes of 100   1,000   1,000   28" x 46"   10 lookes of 100   1,000   1,000   28" x 46"   10 lookes of 100   1,000   1,000   28" x 46"   2 Mil Smooth Finish White   2608   28" x 46"   5 lookes of 100   500   28" x 46"   2 Mil Smooth Finish Blue   2609   28" x 46"   5 lookes of 100   500   28" x 46"   2 Mil Smooth Finish Blue   2609   28" x 46"   5 lookes of 100   500   28" x 46"   5 lookes of 100   1,000   24"   10 lookes of 100   1,000   24"   21"   21"   21"   21"   21 lookes of 100   22"   22"   22"   23"   24"	24" x 42" 1 Mil Embossed Bagged		2442	24" x 42"	10 boxes of 100	1,000	
28" x 46" 1 Mil Embossed Bulk 28" x 46" 2 Mil Smooth Finish White 2608 28" x 46" 5 boxes of 100 500 28" x 46" 2 Mil Smooth Finish White 2609 28" x 46" 5 boxes of 100 500 Over the Head Poly Bib LB30 33" x 16" Bulk 300  POLYETHYLENE SLEEVES Poly Sleeve 18" Poly Sleeve 18" Premium  SL508 18" 50 bags of 40 2,000 Poly Sleeve 18" Premium  BOUFFANT CAPS BOUFFANT CAPS Bouffant Cap Non-Woven 18" White Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green  HAIRNETS  White Nylon Hairnet 21"  White Nylon Hairnet 21"  White Nylon Hairnet 21"  White Nylon Hairnet 21"  HNW40924 24" 10 boxes of 100 1,000 White Nylon Hairnet 21"  HNW40921 21" 10 boxes of 100 1,000		491	2443	24" x 42"	10 boxes of 100	1,000	
28"x 46" 2 Mil Smooth Finish White 2608 28" x 46" 5 boxes of 100 500 28"x 46" 2 Mil Smooth Finish Blue 2609 28" x 46" 5 boxes of 100 500 28"x 46" 5 boxes of 100 500 28" x 46" 5 boxes of 100 500 33" x 16" 8ulk 300  POLYETHYLENE SLEEVES Poly Sleeve 18" 50 bags of 40 2,000 Poly Sleeve 18" Premium 5081 18" 100 bags of 20 2,000  BOUFFANT CAPS Bouffant Cap Non-Woven 18" White Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green  HAIRNETS White Nylon Hairnet 18" White Nylon Hairnet 21" White Nylon Hairnet 21" HNW40518 18" 10 boxes of 100 1,000 HNW40924 24" 10 boxes of 100 1,000 HNW6091 HINW40924 24" 10 boxes of 100 1,000 HNBR40821 21" 10 boxes of 100 1,000	28" x 46" 1 Mil Embossed Bagged		2846	28" x 46"	10 boxes of 100	1,000	
28"x 46" 2 Mil Smooth Finish Blue  Over the Head Poly Bib  Dever the He	28" x 46" 1 Mil Embossed Bulk		2847	28" x 46"	10 boxes of 100	1,000	
Description	28"x 46" 2 Mil Smooth Finish White		2608	28" x 46"	5 boxes of 100	500	
POLYETHYLENE SLEEVES Poly Sleeve 18" Poly Sleeve 18" Premium  BOUFFANT CAPS Bouffant Cap Non-Woven 18" White Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green  HAIRNETS  White Nylon Hairnet 21"  White Nylon Hairnet 21"  HNW40518  HNW40924  HNW40924  HNW40924  HNW40924  HNW40924  HNW40924  HNW40924  HNW840821  HNW840821  HNW840821  HNW840821  HNW840821  HNW840821  HNW840721  HNW840721  Block Nylon Hairnet 21"  HNW840721	28"x 46" 2 Mil Smooth Finish <b>Blue</b>		2609	28" x 46"	5 boxes of 100	500	
Poly Sleeve 18"   SL508   18"   50 bags of 40   2,000	Over the Head Poly Bib		LB30	33" x 16"	Bulk	300	
BOUFFANT CAPS   Bouffant Cap Non-Woven 18" White   BW1800   18"   10 bags of 100   1,000   1,000   Bouffant Cap Non-Woven 21" White   BW2100   21"   10 bags of 100   1,000   1,000   Bouffant Cap Non-Woven 24" White   BW2400   24"   10 bags of 100   1,000   1,000   Bouffant Cap Non-Woven 21" Blue   2101   21"   10 bags of 100   1000   1000   Bouffant Cap Non-Woven 21" Red   2102   21"   10 bags of 100   1000   1000   Bouffant Cap Non-Woven 21" Green   2103   21"   10 bags of 100   1000	POLYETHYLENE SLEEVES						
BOUFFANT CAPS  Bouffant Cap Non-Woven 18" White  Bouffant Cap Non-Woven 21" White  Bouffant Cap Non-Woven 21" White  Bouffant Cap Non-Woven 24" White  Bouffant Cap Non-Woven 21" Blue  Bouffant Cap Non-Woven 21" Red  Bouffant Cap Non-Woven 21" Red  Bouffant Cap Non-Woven 21" Green  HAIRNETS  White Nylon Hairnet 21"  White Nylon Hairnet 21"  Black Nylon Hairnet 21"  Black Nylon Hairnet 21"  Bloads of 100  1,000	Poly Sleeve 18"		SL508	18"	50 bags of 40	2,000	
Bouffant Cap Non-Woven 18" White Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 24" White Bouffant Cap Non-Woven 24" White Bouffant Cap Non-Woven 24" White Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green  HAIRNETS  White Nylon Hairnet 18" White Nylon Hairnet 21" White Nylon Hairnet 24" Brown Nylon Hairnet 21" Blue BW2400 24" 10 bags of 100 1,000 1000 1000 1000  HAIRNETS  HNW40518 18" 10 boxes of 100 1,000 1,000 1,000 HNW40621 21" 10 boxes of 100 1,000 1,000 1,000 HNW40924 24" 10 boxes of 100 1,000 1,000 HNBR40821 21" 10 boxes of 100 1,000	Poly Sleeve 18" Premium		5081	18"	100 bags of 20	2,000	
Bouffant Cap Non-Woven 21" White Bouffant Cap Non-Woven 24" White Bouffant Cap Non-Woven 24" White Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green  Bouffant Cap Non-Woven 21" Green  2101 21" 10 bags of 100 1000 1000  HAIRNETS  White Nylon Hairnet 18" White Nylon Hairnet 21" White Nylon Hairnet 24" Brown Nylon Hairnet 24" Brown Nylon Hairnet 21" Black Nylon Hairnet 21" HNBK40721 21" 10 boxes of 100 1,000 HNBK40721 21" 10 boxes of 100 1,000	BOUFFANT CAPS						
Bouffant Cap Non-Woven 24" White Bouffant Cap Non-Woven 21" Blue Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green    Comparison of the property	Bouffant Cap Non-Woven 18" White		BW1800	18"	10 bags of 100	1,000	
Bouffant Cap Non-Woven 21" Blue  Bouffant Cap Non-Woven 21" Red  2102  21"  10 bags of 100  1000  Bouffant Cap Non-Woven 21" Green  2103  21"  10 bags of 100  1000  1000  HAIRNETS  White Nylon Hairnet 18"  White Nylon Hairnet 21"  White Nylon Hairnet 24"  HNW40518  HNW40621  HNW40621  HNW40924	Bouffant Cap Non-Woven 21" White	March	BW2100	21"	10 bags of 100	1,000	
Bouffant Cap Non-Woven 21" Red Bouffant Cap Non-Woven 21" Green  2102 21" 10 bags of 100 1000  HAIRNETS  White Nylon Hairnet 18" HNW40518 HNW40518 HNW40621 HNW40621 HNW40924 HNW40924 HNW40924 HNW40924 HNW40924 HNW40924 HNBR40821 HNW40821 HNW80821	Bouffant Cap Non-Woven 24" White		BW2400	24"	10 bags of 100	1,000	
Bouffant Cap Non-Woven 21" Green   2103   21"   10 bags of 100   1000	Bouffant Cap Non-Woven 21" Blue		2101	21"	10 bags of 100	1000	
HAIRNETS  White Nylon Hairnet 18"  White Nylon Hairnet 21"  White Nylon Hairnet 24"  HNW40518  HNW40621  HNW40621  HNW40924  HNW40924  HNW40924  HNW40924  HNBR40821	Bouffant Cap Non-Woven 21" Red		2102	21"	10 bags of 100	1000	
White Nylon Hairnet 18"       HNW40518       18"       10 boxes of 100       1,000         White Nylon Hairnet 21"       HNW40621       21"       10 boxes of 100       1,000         White Nylon Hairnet 24"       HNW40924       24"       10 boxes of 100       1,000         Brown Nylon Hairnet 21"       HNBR40821       21"       10 boxes of 100       1,000         Black Nylon Hairnet 21"       HNBK40721       21"       10 boxes of 100       1,000	Bouffant Cap Non-Woven 21" <b>Green</b>		2103	21"	10 bags of 100	1000	
White Nylon Hairnet 21"       HNW40621       21"       10 boxes of 100       1,000         White Nylon Hairnet 24"       HNW40924       24"       10 boxes of 100       1,000         Brown Nylon Hairnet 21"       HNBR40821       21"       10 boxes of 100       1,000         Black Nylon Hairnet 21"       HNBK40721       21"       10 boxes of 100       1,000	HAIRNETS						
White Nylon Hairnet 24"       HNW40924       24"       10 boxes of 100       1,000         Brown Nylon Hairnet 21"       HNBR40821       21"       10 boxes of 100       1,000         HNBK40721       21"       10 boxes of 100       1,000	White Nylon Hairnet 18"		HNW40518	18"	10 boxes of 100	1,000	
Brown Nylon Hairnet 21"         HNBR40821         21"         10 boxes of 100         1,000           Black Nylon Hairnet 21"         HNBK40721         21"         10 boxes of 100         1,000	White Nylon Hairnet 21"	MALES .	HNW40621	21"	10 boxes of 100	1,000	
Black Nylon Hairnet 21" HNBK40721 21" 10 boxes of 100 1,000	<b>White</b> Nylon Hairnet 24"					·	
	·						
BEARD COVERS	Black Nylon Hairnet 21"		HNBK40721	21"	10 boxes of 100	1,000	
Polypropylene <b>White</b> BC104 White- One Size 10 bags of 100 1,000			BC104	White- One Size	10 bags of 100	1,000	

İtem		Reorder No.	Size/Color	Packaged	Case	
MASKS - CONE SHAPED			,	·		
Cone Shaped <b>Blue</b>	<b>A</b>	CM4BL	Blue- One Size	10 boxes of 50	500	
Cone Shaped <b>White</b>		CM4WH	White- One Size	10 boxes of 50	500	
Cone Shaped <b>Pink</b>		CM4PI	Pink - One Size	10 boxes of 50	500	
		-				
Pleated Ear Loop Mask <b>Blue</b>		PM5BL	Blue - One Size	10 boxes of 50	500	
Pleated Ear Loop Mask White		PM5WH	White- One Size	10 boxes of 50	500	
Pleated Ear Loop Mask <b>Pink</b>	la e	PM5PI	Pink- One Size	10 boxes of 50	500	
Surgical Procedure Mask 98.6% BFE Blue / White / Pink / Lavender	Brocker P. 200 99, BTE Filtration  Brocker P. 200 99, BTE EN LOOP Mark BLUE	2900 / 2901 2902 / 2903	One Size Fits All	10 boxes of 50	500	
SHOECOVERS						
Shoe Covers Non-Skid		6925	Regular (6-10)	3 boxes of 50	150 pairs	
Shoe Covers Non-Skid		6926	XL (11-15)	3 boxes of 50	150 pairs	
GLOVE BOX HOLDERS						
Glove Box Holders		GBH	12"x 3.5"x 3.5"	Bulk	10	
C-FOLD TOWELS	~					
Morcon Regular C-Fold Towel	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	C-122	3.5" x 10"	16 bags of 150	2,400	
Premium C-Fold Towel		P-100	3.5" x 10"	16 bags of 150	2,400	
GARBAGE BAGS		1 100	0.5 X 10	10 bugs 01 100	2,400	
		LL39EH-10 /			100/	
33 Gallon Garbage Bags 1.25 mil		LL39EH-25	23" x 10" x 40"	Bulk	250	
33 Gallon Garbage Bags 1.50 mil		LL33EH-10 / LL33EH-25	23" x 10" x 40"	Bulk	100/ 250	
46 Gallon Garbage Bags 1.25 mil	PLATTICLINERS	BP4046EH	23" x 17" x 46"	Bulk	100	
46 Gallon Garbage Bags 1.50 mil	SSTARRAN WAR MOTTO REVOLUTION AND	BP4046EH-10	23" x 17" x 46"	Bulk	100	
60 Gallon Garbage Bags 1.25 mil		BP60GAL-EH-1	22" x 16" x 58"	Bulk	100	
60 Gallon Garbage Bags 1.50 mil		BP60GAL-EH	22" x 16" x 58"	Bulk	100	
CUTLERY						
Heavy Weight Fork	Simple 💳	261FB	Black	1,000	Bulk	
Heavy Weight Teaspoon	HEAVY WEIGHT BLACK TEASPOONS	262TB	Black	1,000	Bulk	
Heavy Weight Knife	PACAMAGE: LOCO BULK PECCES FOR CASE. RECHOEN MANGER: 20278	263KB	Black	1,000	Bulk	
Heavy Weight Soup Spoon		264SB	Black	1,000	Bulk	
Medium Weight Fork	Circuit	261FW	White	1,000	Bulk	
Medium Weight Teaspoon	Gimple MEDIUM WEIGHT WHITE SOUP SPOONS	262TW	White	1,000	Bulk	
Medium Weight Knife	PACAMED LOOD BLAK PIECES FOR CARE REVERDER NUMBER: 2545W	263KW	White	1,000	Bulk	
Medium Weight Soup Spoon		264SW	White	1,000	Bulk	
Medium Weight Spork		265PW	White	1,000	Bulk	
<b>5 Piece</b> Cutlery Kit - (Knife, Fork, Napkin, Salt & Pepper Packet)	Simple  MEDIUM WEIGHT WHITE 5 PIECE CUTLERY KIT	2665	White	250 kits/case	250	
<b>6 Piece</b> Cutlery Kit - (Knife, Fork, Spoon, Napkin, Salt & Pepper Packet)	month access 2005  month access (A. Land, A. Lan	2667	White	250 kits/case	250	



# **Pro-Stat Inc.**

## MEDICAL • DENTAL • FOOD SERVICE • INDUSTRIAL • SAFETY SUPPLIES

285 Pierce Street Somerset, NJ 08873

City:

### www.emeraldppp.com

Office: (732) 805 -9400 Fax: (732) 805 -9401

Somerset, NJ 08873				Fax: (732) 805 -9401
Company Information		Credit Application	<u>1                                    </u>	*Salesman #:*
				Jaiesiliaii #
Business Name:		Email A	Address:	
Trade Name:		Federal	ID#:	
Address:				
City:	State:		Zip Code	:
Phone:	Fax:		Toll Free	:
		Type of Business: (Please Check One)		
Corpora	tion	_ Partnership	_Sole Proprie	etorship
Owner Information				
Owners Name:		Social	Security # :	
Street Address:				
City:	7	State:	Zip Code:	
Phone:				
Number of Years Under Curr	ent Owne	ership:		
Tax Exempt Number:		State:	Z	Zip Code:
Line of Credit Requested:				
Bank Information				
Bank Name:		Account Numb	er:	
Street Address:				

Print Name: \_\_\_\_\_ Date: \_\_\_\_\_

Zip Code:

Applicant Signature: \_\_\_\_\_\_ Title: \_\_\_\_\_

State:

#### Please List Three (3) Trade References Credit Application

	Стешт Арр		
Company Name:			
Address:			
City:	State:	Zip Code:	
Phone:	Fax:	Email:	
Contact:	Position:		
Company Name:			
Address:			
City:	State:	Zip Code:	
Phone:	Fax:	Email:	
Contact:	Position:		
Company Name:			
Address:			
City:	State:	Zip Code:	
Phone:	Fax:	Email:	
Contact:	Position:		

Upon acceptance of this application by Emerald, the customer agrees to make payment of all invoices by the date due. Normal invoice terms shall be NET 30 DAYS but may be modified on an individual basis at the sole discretion of Emerald. In the event of default, or non-payment for any reason, the customer will assume responsibility for all reasonable and customary additional expenses necessary in the collection of the debt, including but not limited to attorney fees. The customer also agrees to pay interest on any past due balance in the amount of **1.5%** per month or the maximum amount allowed by law. Emerald reserves the right to revoke credit extended at any time and for any reason it deems valid. The business relationship between Emerald and the customer shall be governed by the laws of the State of New Jersey. All disputes between Emerald and the customer shall be decided by the Local, State or Federal courts of competent jurisdiction in the State of New Jersey. By signing this Application, customer agrees to all the terms above, and authorizes Emerald to investigate the customer's credit and financial records, including bank references.

Applicant Signature:	Date:
Print Name:	

By signing above, in consideration of the extension of credit granted by Emerald: I (we) hereby jointly and severally personally unconditionally guarantee the payment of whatever amount shall at any time be owed to Emerald on account of goods hereafter delivered, whether said indebtedness be in the form of notes, bills or open account. This shall be an open and continuing guarantee and shall continue in force not withstanding any change in the form of such indebtedness or renewals or extensions granted without obtaining any consent thereto and until expressly revoked by written notice from the undersigned as to any indebtedness contracted prior to such revocation. The undersigned additionally jointly and severally unconditionally guarantee the payment of any interest due and all costs of collection, including but not limited to court costs and attorney's fees. The guarantee shall be binding upon ourselves, our heirs, executors, successors and assigns.



# Finding The Right Glove For You...

Gloves in the workplace are key for protection and safety. Comfort, fit and function hallmarks of all Emerald gloves. Over the last 20 years we have expanded our glove range to suit users across many industries. Our passion for quality and value is evident in both our product selection and the excellent service we provide to our customers.

### **Latex and Nitrile**

Latex has long been the choice among professionals as it provides a reliable and breathable barrier against dirt and contaminates. Nitrile gloves provide even stronger protection and are less prone to degradation from exposure to certain chemicals – however they may not have the same feel and fit some users prefer when wearing latex. Individuals sensitive or allergic to latex materials should use nitrile gloves.

### **Powder and Powder-Free**

Powder is used to make gloves easier to pull on, and to keep them from sticking together. It can act as a vehicle for the transmission of latex proteins. Typical powders used are cornstarch and oatmeal. Powder-free gloves typically cost more, since powders must be removed from the glove during the manufacturing process.

# **Exam Grade and Industrial Grade**

Our disposable gloves are available in both exam grade ("medical") and industrial grade ("non-medical"). Exam gloves are the best choice for protection against blood-borne pathogenic microorganisms. Medical grade disposable gloves have a superior Acceptable Quality Level (AQL) against pinholes and are in compliance with Food & Drug standards as a medical device. Our industrial grade gloves, while not authorized for medical use, are manufactured with outstanding quality control and pass any requirement established for use in food handling and preparation.

# "YOUR PROTECTION IS OUR BUSINESS"

285 PIERCE STREET, SOMERSET, NJ 08873

**PHONE**: (732) 805-9400 / (800) 652-2558 **FAX**: (732) 805-9401

www.emeraldppp.com



"Your Protection is Our Business"